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ENINEAO 1

(13 o€lideg 25 epWTAHOEIQ)
INSTRUCTIONS TO CANDIDATES
OAHIIEZ NMPOZ TOYZ AIAFQNIZOMENOYZ

For each question, choose and circle the best answer A, B, C, or D, using
the answer sheet provided.

[Na kGO epwTNOoN, ETTIAECTE KAI KUKAWOTE TN KOAUTEPN atravinon A, B, ' i
A XpNOIPOTTOIWVTAG TO €I0IKO QUAAO YIQ TIG ATTAVTAOEIG OOG.
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KAAH ENDITYXIA

1 Which group contains only assets?

A cash at bank, trade receivables, rent prepaid
B cash, motor vehicle, bank overdraft

C trade payables, bank loan, machinery

D trade receivables, wages accrued, inventory

1 Mola opada TepIAauBavel pOvo EVEPYNTIKA;

A peTPpNTa OTN TPATTECQ, XPEWOTEG, EVOIKIO TTPOTTANPWHEVA

B petpnTtd OTO TOUEIO, QUTOKIVNTA, TTAPATPARNYMO

I moTtwrtég, ddvelo armd Tpamela, ynxaviuaTa

A xpewoTeg, nUEpOUIoBIa oPeINOPEVA, ATTOBEPATA EUTTOPEUPATWV



2 The following balances have been taken from a trader’s books.

Inventory €30 000

Bank overdraft €5 000

Office equipment €30 000

Trade receivables €20 000

Trade payables €15 000

Long-term loan from bank €40 000
Commission income accrued €10 000
What is the total of the current assets?

A €40 000 B €50 000 C €60 000 D €65 000
2 Ta BiIBAia evog etixeipnuaTia Ogixvouv TA IO KATW UTTOAOITTA:

atmroBéuata eutropeupdTwy €30 000

TTapaTpdpnyua otn Tpdtrela €5 000

eCOTTAIONO ypaeiou €30 000

xpewoTeg €20 000

moTwTéG €15 000

Makpoxpévia davela atmrd mn Tpatrefa €40 000

TTpounBcia eiIoTTpakTéa oPelNouevn €10 000

Ti gival TO ABpOICHA TWV KUKAOPOPIOKWYV EVEPYNTIKWV;

A €40 000 B €50 000 T €60 000 A €65 000

3 Paul had revenue (sales) of €200 000. His expenses were €50 000
and his net profit was €60 000.
What was his cost of sales?

A €110 000 B €140 000 C €90 000 D €140 000

3 O Maulog eixe TwARoeig €200 000. Ta £¢oda Tou ITav €50 000 kail To
kKaBapd Tou kEPOOG €60 000.
Ti ATav TO0 KOOTOG TWV TTWANCEWV;

A €110 000 B €140 000 I €90 000 A €140 000

2



4 What is not a purpose of preparing a trial balance?

A to aid the preparation of final accounts

B to check the arithmetical accuracy of the double entry book keeping
C to help locate arithmetical errors

D to prove that the double entry has been carried out without errors

4 Molog dev gival 0 OKOTTOG TNG ETOIPACIOG TOU SOKIJAOTIKOU
iIocoduyiou;

A Na Bon6rjoel oTn €TOIMACIO TWV TEAIKWV AOYOPIAC WY

B Na eAéy&el Tn apiBunTikn akpieia TG diITAoypa@iag pag

I Na fonbrjoel va evioTTicoupe apIiOuNTIKA AGOn

A Na atrodeicoupe 6711 o1 DITTAOYPAPIKES HOG EYYPAPES EXOUV
TTPAYMATOTTOINBEI XWpPig AGBN

5 A trader provides the following information for the year ended 31
December 2018.

Trade receivables at 1 January 2018 €10 000

Cheques received from trade receivables in 2018 €265 000

Cash discount allowed in 2018 €5 000

Trade receivables at 31 December 2018 €15 000

What were the credit sales for the year ended 31 December 20187

A €255000 B €265000 C €275000 D €285000

5 O1 1o KATW TTANPOPOPIEC aPOoPOUV TO £TOG TTOU TEAEiwoE OTIC 31
Aekeuppiou 2018

XpewoTteg TNV 1 lavouapiou 2018 €10 000

EiotrpaxBeioeg emTayég atmo xpewoTeg Kata T didpkeia Tou 2018 €265 000
TAMEIAKES EKTTTWOEIC XOopnyouueves KaTtd Tn didpkela Tou 2018 €5 000
XpewoTeg TN 31 December 2018 €15 000

NMéoeg rav ol TWANCEIG PE TTIOTWOT YIA TO £€TOG TTOU TEAEIWOE TN

31 AekepBpiov 2018;

A €255000 B €265000 I €275000 A €285000



6 Which ONE of the following Accounting equations is incorrect?

A
B
C
D

Assets - Equity = Liabilities
Liabilities + Assets = Equity
Liabilities + Equity = Assets
Assets - Liabilities = Equity

6 Mola a1rd TIg TTI0 KATW AOYIOTIKEG £§lowOoEIg gival AdBoG;

A
B

Evepyntikd - KepdAaio = MNabnTIKG
Madntikd + Evepyntikd = KepdAaio

I MaBnrmika + KepdAaio = EvepynTiKa

A

Evepyntika - NMabntikd = KepdaAaio

7 What was the balance on the following account on 31 December 20187

A. Brown a/c

Jun5 | Bank 300| |Jan1 |Balance b/d 320
Jun 5 | Discount received 20| |July 1 | Purchases 255
July 8 | Returns outwards 50

A A debit balance of €205

B A credit balance of €205

C A credit balance of €575

D There is a nil balance on the account

7  TiATav To UTTGAOITTO TOU TTI0 KATW Aoyaplacuou oTig 31
AgkepBpiov 2018;

A. Brown a/c
louv 5 | Tparmrela 300 lav 1 | YTroAoITro €I1G véo 320
louv 5 | EKTTTWOEIC louA 1 | Ayopég 255
AauBavoueveg 20

louA 8 | ETTiIoTpOo®EC ayopwyv 50

A XpewoTikd utrdAoitro €205

B TotwTtikd uttoAoitto €205

I TotwTtikd uttoAoitto €575

A Aev uttdpyel uTTOAOITTO OTO Aoyaplaoud



At the end of her financial year Melissa had prepaid insurance.
In which section of Melissa’s statement of financial position will
this appear?

A current assets

B current liabilities

C non-current assets
D long-term liabilities

210 TEAOG TOU AOYIOTIKOU TNnG £€ToUug N Melissa gixe aoc@aAioTpa
TTPOTTANPWHEVA.
2.€ TT0Ia EVOTNTA OTN XPNMATOOIKOVOMIKA KOTAOTOON Ba ENPAvIOTOUV;

A KUKAOQOpPIOKA evepyNTIKA

B KukAo@oplakd TTadnTikda

" un KUuKAOQOpPIOKA evEPYNTIKA
A pakpoxpoévia TaenTikda

How the cost of goods sold is calculated?

A opening inventory + purchases - carriage inwards - closing inventory
B opening inventory + purchases + carriage outwards - closing inventory
C opening inventory + purchases — returns outwards - closing inventory
D opening inventory + purchases — returns inwards - closing inventory

Mwg utroAoyileTal To KOOTOG TWV TTWARCEWV;

A apxIKA ENTTOPEUATA + AYOPEG— HETAPOPIKA £€00A ayOopWV - TEAIKA
EUTTOPEUMATA

B apxIKa eUTTOPEUUATA + AYOPEG + HETAPOPIKA £C00A TTWANCEWV —
TEAIKA euTTOPEUMATA

I apxIKG EUTTOPEUATA + AYOPEG — ETTIOTPOPES AYOPWV- TEAIKA
EUTTOPEUMATA

A apxIKG PTTOPEUPATA + AYOPEG— ETTIOTPOPES TTWANCEWV — TEAIKA
EUTTOPEUMATA



10 A business values its inventory at €35 600.

This includes €2 500 for goods which can only be sold for €800.
At which value should inventory be recorded in the final
accounts?

A €33 100 B €33 900 C €34 800 D €35 600

10  Mia emmixeipnon aTroTinoe Ta eTTropeupaTd TG o€ €35 600.
AuTa TEpIAaBAvouy guTTopeUpaTa KOoTOUG €2 500 Ta oTToia
MTTOPOUV va TTwAnBouv poévo yia €800.

2 € Trold TIMA 0a TTAPOUCIACTOUV T ENTTOPEUHATA TG OTOUG
TEAIKOUG AoyaplaouoUg;

A €33 100 B €33 900 I €34 800 A €35 600

11 Friday’s financial year ends on 31 December.
On 31 December 2017 his accounts included:
Equipment at cost €12 000 and accumulated depreciation of
equipment €6 000.
On 1 January 2018 Friday purchased equipment for €12 000.
Equipment is depreciated at 25% per annum using the diminishing
balance method.
What would be the accumulated depreciation of equipment on
31 December 2018?

A €4 500 B €7 500 C €9 000 D €10 500

11  To AoyioTIkO €106 TNG Friday’s TeAgiwvel oTig 31 AgkeppBpiou.
271G 31 Aekepppiou 10 2017 o1 Aoyaplaouoi TNG CUUTTEPIAQUBAVOUV:
ECotTAiIopo o€ Tipf k6oToug €12 000 Kal CUCCWPEUPEVN ATTOORECN
e€otTAiIcpou €6 000.
Tn 1 lavouapiou 2018 Friday ayopaoce emiTpoo0eto e€omrAicud €12 000.
O €ComTAIoONOG atTrooBéveTal 25% TO £TOC XPNOINOTTOIWVTOG TN
@Bivouca pébodo.
Ti Oa gival n ocuvoAikA atrdéoBeon Tou eotTAIoCHOU oTIG 31 Agkeufpiou
2018;

A €4 500 B €7 500 M €9 000 A €10 500
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A firm bought a motor van for €17 000. It is expected to be used for 4
years then sold it for a scrap value of €1,000. What is the annual
amount of depreciation if the fixed instalment method is used?

A €3750 B €4 000 C €4 250 D €4500

Mia emixeipnon ayopaoe €va autokivnTo yia €17 000. Avauéveral va
TO XpNnOoIPoTToINCEl yIa TEooepa (4) xpovia Kal JETA va TO TTWANCE! yia
€1,000 uTtToAgIMATIKA agia.

Ti gival n eTACIa ATTOCPEON €AV £QAPHOOTEI N OTABEPN HEBODOG;

A €3750 B €4 000 I €4 250 A €4 500

A building was purchased for €100 000 on 1 April 2017.

It was decided to depreciate it using the straight line method at 20%
per annum.

Depreciation of €15 000 was included in the income statement for the
year ended 31 December 2017.

Which amount will be included for depreciation of buildings in
the income statement for the year ended 31 December 20187

A €15 000 B €23 000 C €20 000 D €35 000

‘Eva KTip1o ayopdoTtnke yia €100 000 1n 1 AtrpiAiou 2017.
ATTOQOCIOTNKE va aTTOOREVETAI XPNOIMOTTOIWVTAG Th HEBODO TNG
euBeiag ypapuAg pe TooooTd 20% T0 £T0G.

Attooeon €15 000 £xel oupTTEPIANYOEI OTN KATAOTAON
QATTOTEAEOUATWY YIa TO £€TOC TTOU TeEAEiwoe oTig 31 AekeuPBpiou 2017.
Moio Tood O0a CUPTTEPIANYOEI OTN KATAOTAON ATTOTEAECHATWV
yia aTTOOBECT TOU KTIPiOU yIa TO AOYIOTIKO £€T0G OTIG 31
AgkepBpiou 2018;

A €15 000 B €23 000 C €20 000 D €35 000

Sarah sublets part of her premises to Ruth, a tenant at a rent of €7 500
a year. The tenant owed €1 300 at the beginning of the year and had
prepaid €700 at the end of the year.

How much did Sarah receive for rent during the year?

A €5 500 B €6 900 C €8 100 D €9 500
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H Sarah evoikidlel yépog Twv akiviitwy TG otn Ruth, yia €7 500 10
€10¢. H evoikiaotig 6gelhe €1 300 oTn apxry Tou £TOUG Kal
TTpoTTANpwaoe €700 oTo TEAOG TOU £TOUC.

Moéoca evoikia £xel e1I0TTPAgEl n Sarah KaTtd Tn SIAPKEIA TOU £TOUG;

A €5 500 B €6 900 C €8 100 D €9 500

Zoe always depreciates his non-current assets using the straight line
method. Which accounting principle (concept) is he applying?
A consistency

B conservatism

C going concern

D matching

O Zoe atroofével Ta un KUKAOPOPIOKA EVEPYNTIKA TOU
XPNOIUOTTOIWVTAG TTAVTOTE TN €uBeia uEBOdO atmdoeong.
Moia AoyioTIKR apXn epapuolel;

A OUOIONOPYIAG - CUVETTEIOG

B ouvtnpntikoTNTOG

Ir dpwoag OIKOVOUIKNAG Jovadag
A ocuoxéTiong

The trial balance at John’s year-end shows trade receivables of

€35 000 irrecoverable debts of €2 500 written off during the year and
irrecoverable debts recovered of €500. Additional irrecoverable
debts of €1 000 is to be written off. Which of the following shows
the correct net trade receivables in the statement of financial
position?

A €32500 B €31 000 C €32000 D €34 000

To dokIpaoTiKG 1004UYI0 Tou John's oTo TEAOG TOU £€TOUG OEIXVEI
xpewaoTeg €35 000, emo@aleic xpewoTes €2 500 tToU dlaypdpnkav
KaTd Tn SIAPKEIQ TOU £€TOUC KAl EI0TTPAEEIC ETTIOPAAWV/DIaYPAPEVTWV
ammaitioewy €500. EmimrpdoBeta emopaleic xpewoTeg €1 000 va
dlaypa@ouv oTo TEAOG TOU £TOUG.

Moidv a1rdé Ta akéAouBa pag deixvel TOUG CWOTOUG KaBapouUg
XPEWOTEG OTN XPNMATOOIKOVOUIKH KATACTAON);

A €32500 B €31 000 Ir €32 000 A €34 000
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Which of the following best describes the accruals concept?

A Assets are matched with liabilities

B Revenues are matched with expenses
C Expenses are matched with assets

D Revenues are matched with liabilities

Moo atmrd Ta akdAouba TTepIypd@el KAAUTEPA TH APXA TWV
0ed0oUAEUNéVWIV;

A EvepynTikd cuoxeTiCovtal Ye T TTAONTIKA

B ‘Ecoda ouoxeTiovTal e Ta £C00a
r ‘E¢0oda ouoxETICOVTAl UE TA EVEPYNTIKA
A ‘Ecoda ouoxeTiCovTal e Ta TTABNTIKA

A trader made the following payments.
Building repairs €1 000

Extension to building €2 000

New tires for van €200

Office equipment €4 000

Carriage on office equipment €200
What is the total capital expenditure?

A€4000 B€6200 C€6400 D€7000

‘Evag emmixeipnuaTiag €ixe TI¢ akOAOUBEG TTANPWHEG.
EmdiopBwaocig kTipiwv €1 000

MpoékTaon kTipiwv €2 000

Kaivoupyia AaoTixa autokivntou €200

ECotrAiopo ypageiou €4 000

MeTagopika e¢otTAiIcpoU ypageiou €200

Molo €ival To 0UVOAO TWV KEQAAAIOUXIKWYV £E60WV;

A€4000 B€6200 C€6400 D€7000
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Sunday started a business on 1 January.

On 31 January her cash book showed that she had €2 100 in the
bank.

On that date cheques not yet presented for payment totaled €600 and
a deposit of €900 had not been credited by the bank.

What was the balance shown on Sunday’s bank statement on 31
January?

A €1 500 credit B €1 800 credit C €2 400 credit D €2 700 credit

H Sunday apxioe tn €mxeipnon g 1n 1 lavouapiou.

271G 31 lavouapiou ToO TapEio TNG €ixe uttoAoitro €2 100 oTn TpdTTeCQ.
Tn idla nuepounvia ETMTAYEG YN TTAPOUCIACUEVEG YIA TTANPWUNA ATAV
€600 ka1 kataBeon €900 dev cixav TOTWOEI a1To TN TPATTECQ.

Molo ATav To TTO06 TToU £BEIXVE N TPATTEQIKN KATAoTAON OTIG 31
lavouapiou;

A €1 500 moTwTiko B €1 800 moTwTtiKO C €2 400 TIoTWTIKO
D €2 700 moTwTIKO

On 1 January 2018 Maria had unused stationery valued at €50.

At 31 December 2018 her stock of (unused) stationery was valued at
€80. During the year Maria purchased stationery costing €250.
Applying the matching principle, how much should be charged for
stationery in the income statement for the year ended 31
December 2018?

A €220 B €250 C €280 D €300

Tn 1 lavouapiou 2018 Maria cixe améBepa ypagikng UANG agiag €50.

Tn 31 AekepBpiou 2018 1o aTOOEPA TNG YPAPIKNS TNGS UANG €ixe agia €80.

Katd 1n didpkela TG Xpovidg n Maria aydpaoe ypaikr) UAn agiag €250.
E@apudlovtag Tn apxr TnG CUCXETIONG, TTOCA Ba XpewBEi yia
YPOA®@IKA UAN OTN KATAOTOOT ATTOTEAECHATWY YIA TO £TOG TTOU
TeAgiwoe 1o 2018;

A €220 B €250 " €280 A €300

10
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Paul had the following transactions with David, a new customer.
March 4 goods invoiced to David €350

March 7 debit note received from David €35

March 19 cheque received from David in full settlement €300
March 20 goods invoiced to David €470

March 22 credit note issue to David €20

April 1 cheque received from David €300

Paul sent a statement of account to David on 31 March.

What was shown as the balance due on that date?

A €150 B €450 C €165 D €470

O Paul €ixe TIG M0 KATW ouvaAAayéG pe éva vEo TTeAATN TO David.
March 4 TlwAnoe eptropevpaTa Ye TioTwon oto David €350
March 7 Tfipe XpewoTIK onueiwon atrd 1o David €35

March 19 Trpe emitayn yia e€d@Anon atmd 1o David €300

March 20 TNwAnoe eptropevpaTa Ye TioTwon oto David €470
March 22 "'Ekdwoe€ oTwTIKI onueiwon oto David €20

April 1 TQpe emrayn ato 1o David €300

O Paul €oTelAe kaTdoTaon Tou Aoyapiaouou oto David oTig 31
MapTtiou. Moilo ATav To o@elAdpevo utroAoitro oTig 31 MapTiou;

A €150 B €450 M €165 A €470

A sole trader provided the following information for the year ended 31
December 2018.

Net profit €18 000

Drawings €5 000

Capital introduced €3 000

Capital at 31 December 2018 €30 000

What was the trader’s capital on 1 January 20187

A €10 000 B €14 000 C €30 000 D €36 000

11
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O1 1m0 KATW TTANPOPOPIEC APOPOUV TO AOYIOTIKO £TOC TTOU TEAEIWOE
oTi¢ 31 AekepPBpiou 2018 evdg eTTixeIpnuaTia.

KaBapd kEpdog €18 000

[MpoowTTikéC atToAAwelc €5 000

EmimpdoBeTo kKepdAaio €3 000

KegpdaAaio oTig 31 AgkeuBpiou 2018 €30 000

Molo ATav To KePAAaio Tou gmixeipnuatia Tn 1 lavouapiou 2018;

A €10 000 B €14 000 I €30 000 A €36 000

John’s business cash book includes the following payments.
Business premises €20 000

Rates for the business premises €200

Rates for John’s private house €100

Extension of business premises €500

Wages of employees €15 000

Salaries of John €3 000

How much revenue expenditure will appear under expenses in
the income statement (profit or loss account)?

A €15 200 B €15 700 C €18 200 D €18 800

23 To tapeio Tou John cupTtrEPIAQUPBAVEI TIG TTIO KATW TTANPWHEG:

Akivnra Tng emixeipnong €20 000

dopol akIvATWYV TNG emmixeipnong €200

dopol TG TTPOCWTTIKAG KaTolKiag Tou John €100

[MpoéKTaoNn TwV AKIVATWY TN £TTIXEipNOoNG €500

HuepopioBia Twv uttaAAAAwy €15 000

MioBoi Tou John €3 000

Moéoca Ba gival Ta AsiTtoupyikd £€§0da TTou Ba XpewBouv oTO
Aoyaplaoud atroTeEAEOUATWY;

A €15 200 B €15 700 C €18 200 D €18 800

12
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John’s financial year ends on 31 December.

In 2018 he paid €16 500 for advertising in the local newspaper. This
was for 15 months to 31 March 2019.

What will be recorded in John’s statement of financial position
at 31 December 20187

A accrual €3 300

B accrual €16 500

C prepayment €3 300
D prepayment €13 200

To AoyioTikG €10¢ Tou John TeAgiwvel oTig 31 AekeupBpiou.

To 2018 TApwoe €16 500 yia dla@nuioEIC OE TOTTIKA EQNUEPIdA VIO
15 unveg pexpr 1ig 31 Maprtiou 2019.

Ti 0a £Xope 0TN XPNHATOOIKOVOUIKA KaTdoTaon Tou John oTig 31
AekeppBpiou 2018;

A o@eioueva €3 300

B ogeiAoueva €16 500

C mrpotrAnpwpéva €3 300
D mrpomAnpwpéva €13 200

Smith sold goods on credit to Green.
Which entries will Green make to record this?

account to be debited account to be credited
A purchases Smith
B Smith purchases
C sales Smith
D Green sales

O Smith TTwAnoe gutTopEUpaTa pe TrioTwon oto Green.
Mola eyypaen 8a kdavel ota BiBAia Tou o Green;

Aoyaplaouog TTou XpewVETAl  AOYyapIOOHOG TTOU TTICTWVETA

A ayopEg Smith

B Smith ayopEg

r TTWANOEIG Smith

A Green TTWANOEIG
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